KAUHEE - ERFERETEREAET T 7 b A RAEMRER

Alexandrium:0
D. fortii: 0
D. acuminata:0

=)

KALAE

Alexandrium:0
D. fortii: 0
D. acuminata: 0

Alexandrium:0
D. fortii: 0
D. acuminata:0

W0—

Alexandrium:-

Alexandrium:0
D. fortii: 0
D. acuminata: 0

Alexandrium:0
D. fortii:0
D. acuminata: 0

Alexandrium: 0

¥B)

D. fortii: -

D. acuminata:-

4

@ Alexandrium:-
D. fortii. -

T D. acuminata:-

BERES 2 .

Alexandrium:-
D. fortii: -
D. acuminata:-

Alexandrium:.0
D. fortii: 0
D. acuminata:0

D. fortii: 0 =

D. acuminata:0 EHEE 201GE1ZH1ZE
£:SEI(128128) DABHE

BEISUHb  HIBS GREE/L)
LS KB E 45 Alexandrium Dinophysis =
D. fortii D. acuminata F DD Dinophysis

k) 9.92 33.04 0 0 0 0
@fAH 10.84 | 33.88 0 0 0 0
R=vik 10.96 33.89 0 0 0 0
@A F% 1141 | 3392 0 0 0 0
OXEHEF | 11.11 33.94 0 0 0 0
®£1R 10.28 | 33.18 0 0 0 0
DES 11.30 | 34.02 0 0 0 0
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QfEE - - - - - -
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. Alexandrium spp. ($RE%k/L)

" OEH (QFFR QYR (DEHIE OAESHAGCSERE (DES |(@FE |QFAE |(XR
7H19H 1430 120 0 0 240 0 20 0 0 0
7H25H 0 10 0 0 0 0 0 0 0 0
8H1H 0 0 0 0 20 10 0 0 0 0
8H10H 20 10 0 = 0 0 - - = =
8H15H 0 0 0 0 0 0 0 - = =
8H24H 0 0 0 0 0 0 0 - - -

981~2H 0 0 10 0 0 0 0 - = =
9A5H 0 0 0 0 0 0 10 0 0 0
9812~13H 0 10 10 0 0 0 0 0 0 0
9H20H 0 0 0 0 0 0 0 - - -
9F26H 10 0 0 0 0 0 0 - = -
10A3H 0 0 0 0 0 0 0 0 0
10A11H 0 0 0 0 0 0 0 - = =
10H17H 20 0 0 30 10 0 10 - - -
10824H 10 0 10 0 20 0 0 - = =
10H31H 0 0 0 0 0 0 0 - = =
1187~8H 20 0 0 0 0 0 0 0 0 0
11814H 10 0 0 0 0 0 0 - = =
11H21H 30 0 0 0 0 0 0 - = =
11H28H 0 0 0 - 0 0 0 - - -
1285H 0 0 0 0 0 0 0 0 0 0
12812H 0 0 0 0 0 0 0 - — —

RAEH D. fortii (FRREER/L)

D& | QBAR |QZVIR |DEHIF OXEHAG@EIR (DEE |@&FE |OFAE [(DXR

78198 0 0 0 0 0 0 0 0 0 0
7H25H 0 0 0 0 0 0 0 0 0 0
8A1H 0 0 0 0 0 0 0 0 0 0
8H10H 0 0 0 - 0 0 - - - -
8H15H 0 10 0 0 0 0 0 - = -
8H24H 0 0 0 0 0 0 0 - = =
981~2H 0 0 0 0 20 10 0 - - -
9H5H 0 0 0 0 0 0 0 0 0 0
9H12~13H 0 10 10 0 0 0 0 0 0 0
9H20H 0 0 0 0 0 0 0 - = =
9H26H 0 0 0 0 0 0 10 - - -
1083H 0 0 0 0 0 0 0 0 0
10A11H 0 0 0 0 0 0 0 - = =
10H17H 0 0 0 0 0 0 0 - - -
108 24H 0 0 0 0 0 0 0 - - -
10A31H 0 0 0 0 0 0 0 - = =
11A7~8H 0 0 0 0 0 0 0 0 0 0
11814H 0 0 0 0 0 0 0 - - -
11H21H 0 0 0 0 0 0 0 - = =
11H28H 0 0 0 - 0 0 0 - = =
12A5H 0 0 0 0 0 0 0 0 0 0
12812H 0 0 0 0 0 0 0 - — —

EEE D. acuminata ($fifa%k/L)

OEE |QBAR |Q=ZViR |DAEHIEF |OXEHEAGSEIR (DEE (@FE |OFAE |(DXIR
7H19H 0 0 0 0 0 0 0 0 0 0
78258 0] 0 0 0 0 0 0 0 0 0
8H1H 40 0 0 0 0 0 0 0 0 0
8H10H 240 0 0 - 0 0 - - - -
8H15H 90 0 0 0 0 0 0 - - -
8H24H 0 0 0 0 0 0 0 - = =
981~2H 10 0 0 0 0 0 0 - - -
9A5H 10 0 0 0 0 0 0 0 0 0
9H12~13H 40 0 0 10 0 0 0 0 0 0
9H20H 0 0 0 0 0 0 0 - = =
9H26H 0 0 0 0 0 0 0 - =
1083H 0 0 0 0 0 0 0 0 0 0
10A11H 120 0 0 0 0 0 0 - = =
10H17H 10 0 0 0 0 0 0 - = =
108 24H 10 0 0 0 0 0 0 - - -
10H31H 0 0 0 0 0 0 0 =
11HA7~8H 10 0 0 0 0 0 0 0 0
11H14H 10 0 0 0 0 0 0 - - -
11821H 0 0 0 0 0 0 0 - - -
11H828H 0 0 0 = 0 0 0 =
1285H 0 0 0 0 0 0 0 0 0
12812H 0 0 0 0 0 0 0 — — =




Alexandrium spp.
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